[ISONORA
Wonderwall

200 eMOTION

Motion TV wall mount
with one arm, for 19"- 42"

D

uded) Only one screw size fits your TV.

@ Tape measure
< Pencil

?‘— pril Wall Plate x1

ook necded o /7~ STEP2 \
incl [ = )

10mm
Concrete Drill

185mm

5mm
Wood Drill
Spanner 10mm

e
———sm®  Screwdriver

INSTALLATION MANUAL Hammer
D16X6.5X1
(4PCS)
ST6X35 @8X38 M4X25 M6X25 M8X30 D16X8.5X1.5 @18X9X10
(3PCS) (3PCS) (4PCS) (4PCS) (4PCS) (4PCS) (4PCS)
1 2 3 4 5 6 7

/~ STEP4

N
o

/~ STEP1B wood _

/~ STEP5

\ Cable hanger Cable hanger Screwdriver




[ISONORA
Wonderwall

200 eMOTION

Emroixia Baon othpIEng pe ppayiova
yia TnAeopdoceig LED/LCD amd 19" éwg 42"

185mm

D

OAHTIIEZ ErKATAZTAZHZ

Amarrolpeva epyaheia
(dev TrepiAapBavovTar)

Métpo
MoAUBI

HAekTpIkO
TPUTTGVI

Tputravi yia
TOIgévTo 8mm

Tputravi yia
§UAo 3mm

KAeidi 10mm

KaroaBidi

Zoupi

YAKd ouvappoAéynang
(mepiAapBavovTal)

=

Bdon Toixou x1

Bpaxiovag otipigng x1

KAiTr ouykpdmong
KaAwBiwy x1

T

STEX35 28X38 M4X25 M6X25 M8X30
(3TMX) (3TMX) (4TMX) (4TMX) (4TMX)

216X6.5X1
(4TMX)
B16X8.5X1.5
(4TNX)
6

©

@18X9X10
(4TMX)

-

o

/ 10(B) BHMA Zrepéwon ng Béong oe §uAivo Toixo / yupooavida

& N

/ 20 BHMA
M4 M6

© O

@

MoAU kovTé oAU pokpU  ZwaoTd

Moévo éva péyebog Bidag
TaIpIddel aTnV TNAEGPAOCT) OaAg

Q)

/ 30 BHMA

-

N

50 BHMA

KAiTT ouykpdtnong

\ KaAwSiwv

KNI ouykpdrnong |
KaAwSiwv

Katoapidl /




